M1 Classic
Gonfiguration



[{ kA bly Manual

CAUTION: do NOT overtighten screws. Once resistance is encountered, do not tighten more than one-quarter turn.
Each fastener is different in length or head-shape, and putting them next to each other is an excellent way to identify them.

SCrew-9

M3 Flat Sunk Screw

ThumhScrew-10

M3 Thumb Screw

M3 FemaleStandoff Screw

M3 Countersunk Screw

[i kA bly Manual

M1 Classic Configuration

LlLE

M3-FS-5

2 )

M1 Classic Configuration



Flatpack Assembly Manual

[i kA bly Manual

1
1
Remove

Install

Tre

M3-FS-5
4)

M1 Classic Configuration

U
M1 Classic Configuration



Flatpack Assembly Manual

T

M3-FS-5

[i kA bly Manual

M1 Classic Configuration

Tm

M3-CS-8

LB

M3-FSS-6

T

M3-FS-5

6 )

M1 Classic Configuration



Flatpack Assembly Manual

Install

M3-FS-5

[i kA bly Manual

e

M3-FS-5

_ Install

Tr

M3-FS-5

M1 Classic Configuration

\ 8 )
M1 Classic Configuration




Flatpack Assembly Manual

T

M3-FS-5

[i kA bly Manual

M1 Classic Configuration

T

M3-FS-5

10 )

M1 Classic Configuration



[{ KA bly Manual

1

Tu

M3-FS-5

[i kA bly Manual

M1 Classic Configuration

Te

M3-FS-5

1)

M1 Classic Configuration



(Hatnack Assembly Manual ( Flatpack Assembly Manual

e - S
= 2 : o
Z o | =
— o [ A=
T g
| =

e == ///\f Install

“\‘ | N |
\ =~ T
| 0L ||| e
g gl ///
NN \ ‘\~ | S
VAN | = Ll
. bl |
////i/,/’f/ il S — o ) = = 7 ‘ \ ‘ ;
Rl = ——Be—= T a e
' ////// Lift Imm first ’ﬁ < & IEIAN 1> >
MV\;\S\/ - | Je" T = o 9 IEN ‘ i ’//
L] 5] | ”j A e (N ‘ " >
ihews | /A 'Remove \K |
AR | g ) 1Imu
T I | /
| I | |
TEREREE / |
(LR ;’
LR R | |
\ N ‘\\ / | s
\ AN | || 30
\ {t AN \ \\\‘ ' i

14

J g
M1 Classic Configuration

QS
M1 Classic Configuration



[{ KA bly Manual

M1 Classic
Gonfiguration

> Y,
M1 Classic Configuration




